DO NOW

Factor:
1. 15+12x

3(5+4x)
2. x*—3x-28
=D+ y)

3. X —16)°

Oty )x- qy}

7.4 Factoring Completely
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Exampleg: , ) ) 5. 1781 6. 25x> +100xy +100°
1. 54~ —5b 2. 12m° =27n
> o (— 2533+ Ly +4 y2
Sla-b 3(lm*qn’) 1y+) }26(7«+2y)@<+2v§>1
5(a-t)(a+b 3@m-3n)(2m+3n)
) . 7. 4x*—64 8. 3d°—6d—24
3. 2xTy+Txy+3y 4. 4r —4r—48 4 (x> a%-2d ~
(2¢+7x +3) K- < \> 3< %4-5)
(fx+3}(2§(+1)
9. x*—16 10. x* —3x° — 40x2

(X2~ Li)(xz + LD

Y 2(7(2—3%&;0)
/ (X—z)(x+z)(x2+ 4)

11. ' —13)*+36
(y= 4=
-2 DDy +3)

HOMEWORK

Worksheet - HW 7.4




